TRIGONOMETRY HOMEWORK 3

[y

Find the equation of the circle centered at Z(2,3), which passes through the point P(—4,7).
Find the center and the radius of the circle represented by the equation 4z? + (2y — 1)? = 9.
Using bearing notation, find the two directions that are perpendicular to N76°W.

Find an equation for the line which passes through P(4,2) and Q(1,—2).

A

. Given the point P(—1,1) and the line .# with equation
Tr—3y =8,
find the equations of the following lines:

(i) the line .’ which passes through P and is parallel to .Z;

(ii) the line . which passes through P and is perpendicular to £

6. Given the vectors U = [_11 and V = [ 8 ] find the following vectors in coordinates and

2 =10’ —
their magnitudes (use exact values and assume the length is measured in inches):
(i) 2 +3V;
(i) 3° —2V.

In Exercises 7-8, find all six trigonometric functions of 8, based on the fact that a certain point A
sits on the terminal side of its corresponding standard position angle. Use exact values!

7. A(3,-4).
8. A(—7,24).

In Exercises 9-12, find the exact values of all six trigonometric functions for the given angle 8. If
any value is undefined, state so.

9. § = —690°
10. 6 = 765°
11. 6 =123~
157
12. 0= ——
2.0 5
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